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Data Structure

« Dynamic Set
02|50 2loto] CHREO{X|= HIO[H2| EE.
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- Elements: data = key data+ satellite data
- Operations:

SEARCH(S,k), INSERT(S,x), DELETE(S,x)
MINIMUM(S), MAXIMUM(S), SUCCESSOR(S,x), PREDECESSOR(S,x)



Data Structure

« Data Structure
— Dynamic Set & B3 SH= HHH
— Stack, Queue, Linked list, Hash table, Heap, Binary search tree, ....

« PData Structure vs. Class
— Data structure = elements + operations
— Class = data member + member functions



Definition
— LIFO (last-in first-out, M=) 2 element & & &/AHK|SHE dynamic
set
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Stack

Data Member
— S[1..n]:array
— top[S) : S Of OpX|Ete 2 MU JAA9| index

initial state: fop[S] O
stack empty: ftop[S] = 0
stack full: op[S] = n

<« top

AW K=
(Ot 2eiE Xtz)

AEH(stack)
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« QOperations

— STACK-EMPTY(S)

- stack O] H{O{RU&=

— STACK-FULL(S)

Stack

=

: stack O XY= X| & K3

— PUSH(S, x)
cstack S Off &4 x & &
- O(1)

_ POP(S)

- stack S A R AMK|SHDD 4f 2| E

O(1)

v Underflow: stack O] empty ?!
v' Overflow: stack O] full @G| Push ==

'c'SH
T o

'<'5H
T o

STACK-EMPTY(S)

if top[S] =0
then return TRUE
else return FALSE

STACK-FULL(S)

if top[S] = n
then return TRUE
else return FALSE

PUSH(S, x)
if STACK-FULL(S)
then error “overflow”
else top[S] < top[S]+1
S[toplS]] « x

POP(S)
if STACK-EMPTY(S)
then error “underflow”
else top([S] < top[S]-1
return S[top[S]+1]




Stack
« Operation

1 52 30 g v Sin6 T

sg slis]6[2]9]17]3
! !
top[S] = 6 toplS] =5
(a) N (b) s (©)
PUSH(S,17), PUSH(S,3) POP(S)

(Q) S[1...6], top[S]=0
PUSH(S,4), PUSH(S,1), PUSH(S,3), POP(S), PUSH(S,8), POP(S)
=> S, topl[S]



Stack

* Program in C

01
02
03
04
05
06
07
08
09
10
11
12
13
14
15
16
17
18
19
20
21
22
23
24
25

#include <stdio.h>
#include <stdlib.h>
#define STACK_SIZE 100

typedef int element;  // intE AE element? At EHOZ HO|

element stack[STACK_SIZE];
int top= -1; /] B89 topl| X7[gtE2-12 47

void Push(element item)

{
if(top >= STACK_SIZE-1) { // 2E40| 0]O] FullQl HL
printf("Wn¥#n Stack is FULL ! #n");
return;

}

else stack[++top]=item;

}

element Pop()

if(top==-1) { // B AEHO| ZEHOI A
printf("#WnWn Stack is Empty|| n");
return 0;

}

else return stack[top--];




Stack

Program in C++

template <class KeyType>

class Stack
{
private:
KeyType *stack;  // KeyType &2l 1X array
int MaxSize; // stack size
int top; // stack 8| top= ZtE|7|= ZQIH (£7[X]|=-1)
public:

Stack (int MaxStackSize = DefaultSize); // Z|ICH 3 7|7} MaxStackSize®! &
bool IsFull();

bool IsEmpty();

void Push(const KeyType& item);

KeyType* Pop(KeyTyped);};
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Stack

* Program in C++

template <class KeyType>
Stack<KeyType>::Stack (int MaxStackSize): MaxSize (MaxStackSize)
{
stack = new KeyType[MaxSize];
top = -1;
}

template <class KeyType>

bool Stack<KeyType>::IsFull()

{
if (top == MaxSize-1) return TRUE;
else return FALSE;

}

template <class KeyType>
bool Stack<KeyType>:IsEmpty()
{
if (top == -1) return TRUE;
else return FALSE;
}

template <class KeyType>
void Stack<KeyType>::Push(const KeyType& x)
{

if (IsFull()) StackFull();

else stack[++top] = Xx;

}

template <class KeyType>
KeyType* Stack<KeyType>::Pop(KeyType& x)
{

if (IsEmpty()) { StackEmpty(); return 0;}

x = stack[top--];

return &x;

}
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System Stack

System Stack

S ERIY A Al Y

1
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int main(void)  void a( ) void b() void c()

(Function Call A|) —

return address of c( );

return address of b( ); return address of b( );
);

return address of a( ); return address of a( return address of a( );

« (Function Return A|)



A Mazing Problem

— Data

mazelm+2J[p+2F (Ol 2 Zt%, &5to] ZAME OO|H 0| LetA[Z)



A Mazing Problem

« Allowable moves

struct offsets

{

NW N NE .

int a, b;

[i-1][j-1] [i-11[i] [i-1][j+1] };
N

enum directions{N, NE, E, SE, S, SW, W, NW};
offsets move[8];

W [i][-1]=— X —>{illi+1] E
[i]i[i] q move[q].a move[q].b
[i+1][-1] [i+1][i] [i+1][+1] N -1 0
Sw s SE NE -1 1
E 0 1
SE 1 1
N S 1 0
(Ex) FIX [01oAM sw 2= 0= W 1 .
= M 1% [g]ih] ? W : .
NW -1 -1

g =1 + move[SW].q;

h = + move[SW].b;



A Mazing Problem

Stack

ak2 stack Of Push
F= stack Ol A Pop
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[6]
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A Mazing Problem

 Algorithm

Step1) & 9A| G, j)OIM AlA L2 = (d=N, ..., NW) QI {|X| EHAH
g =1+ move[dla, h=j + move[d] b
if (maze[g][h]==0) O|1 (mark[g][h]==0) // O|&7ts5t1 N&g L= 2% W
{
mark[g][h] =1;
stack 01| (i, J, d+1) push

}

else
go to Step 1; // Bt& Y& CHSHG

Step 2) Step 10| M22 O|5EE X &= 8% (HLCHE Z)

stack Ol A (i, j, d+1) pop
go to Step 1

*(g == m) && (h == n) O| & W7X| Step 1, 2 = TlH
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A Mazing Problem

 Algorithm

maze
i~ [0] [1] [2] [3] [4] [5] [6]
o 1 1 1 1 1 1 1
M 1 0 0 0 0 0 1
21 1 1 1 0 1 1 1
B 1 1 1 0 1 1 1
4 1 1 1 0 0 0 1
G511 1 1 1 1 1 1

— Running time : O(mp)

mark

ij~ [0 [1] [2] (3] [4] [5] I[6]

[0] 0 O 0 O O O o

[1] 0 O 0 O 0O 0 o0

(2] 0 O 0 O O O ©O

(3] 0 O 0 O 0O O oO

(4] 0 O 0 O 0O O oO

[5] 0 O 0 O 0O O oO
(i, J) dir (9, h) Stack
(1,1 E (1,2) push (1,1,SE)
(1,2) E (1,3) push (1,2,SE)
(1,3) E (1,4) push (1,3,SE)
(1,4) E (1,5) push (1,4,SE)
(1,5) ? ? pop (1,4,SE)
(1,4) SW (2,3) push (1,4,W)
2,3) S (3.3) push (2,3,SW)




* Program

A Mazing Problem

struct items

{
int x, y, dir;
2
void path(int m, int p)
{
mark[1][1]=1; // (1, )OIA A[Z
stack<items> stack(m*p);
items temp;
temp.x = 1; temp.y = 1; temp.dir = E;
stack.Push(temp);
while (Istack.IsEmpty()) // 2~E40| SHIO| OFE
{
temp = *stack.Pop(temp); // 2EHO A ALK
while (d < 8) // ¥2E O|F
{
int g =i + move[d].a; int h = j + move[d].b;
if (g ==m) && (h == p)) { /] ET EE
cout << stacky// A2 =5
cout << i<<""<<j<<end;  // ZENC| XY T X
cout <<m << "" << p << end
return;
}
if (('maze[g][h]) && (!mark[g][h])) { /] M2 %]
mark[g][h] = 1;
temp.x = i; temp.y = j; temp.dir = d+1;
stack.Push(temp); // 2EHOf A
i=gj=hd=N; // (9, )& 0|
}
else d++; // TS HEo 2 Al
}

cout << "no path in maze" << endl;
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Infix to Postfix

— 7‘._'|-C|’—|ji7| (prefix notation)
o« ALKE T AHLKE HO| 77|05t HHE
G) +AB

— S H 7| (infix notation)
- QIMAE I AMAS| 7t Ol ®7(5H= WE
o AbEH L0 EH e
o) A+B

— 2B 7| Y (postfix notation)
o AAMXLE T ALK FOf| H7[SH= 2
- AFEH ALY HE
0il) AB+



Infix to Postfix

=M 4 HLXO| CHSiA 2 d=2|0f| W2} 225 AMESHO] CHA|
SiokLY,

Z} AAXLE 30l ti S5t LEZE 2| Fl= 0| SA|ZICL

295 N

- 0y A*B-C/D
« 1EtA: ((A*B) - (C/D))

o

Al:
= ((AB)* (CD)/)-

¢ 2

« 3CHA|I. AB*CD/-




Infix to Postfix
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Infix to Prefix

(Ex) ((A*B)-(C/D)) ((M)-ﬁmn

((A =
1 FA “' 3 &Y N AB+C
Y AEd stack 4
A
AEH stack &2 AE ((AxB)-(C/D))
((A*B)_(C/D)) 10 Oy J)I[
1ok “. i = AB=CD
Fo AEH stack 2 4E
" AB
A8 stack  EEHYH ((A*B)-(C/D))
((A«B)-(C/D)) % I AHE A B
N — R = _ %
sl AB*CD/
2B stack E A
AB*
AEH stack =

((AxB)-(C/D))
((A*B)-(C/D)) I

.[ Sy : AN E RS - &5
3 popistack
AB*CD/-

= IAB*—l AES stack E2 Al

2 stack  EHIH (23 6-20) ABHS AISSH 9| HI1A 8 TpY




Infix to Prefix

Algorithm

LI2|F 6-4 R RV RLE R Nk

ol

infix_to_postfix(exp)
while(true) do {
symbol < getSymbol(exp);

case {
symbol = operand : // TR A E
print(symbol);
symbol = operator : // SAR A
push(stack, symbol);
symbol = ")" : /] LE5EZ A7
print(pop(stack));
symbol = null : // A E A
while(top > -1) do
print(pop(stack));
else :
}

}
end 1infix_to_postfix( )
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Evaluating Postfix Expression

oLt
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o

2 EHO push
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o
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Evaluating Postfix Expression

 Algorithm

$9| H7| $Al0| HAt ga|E
evalPostfix(exp)
while (true) do {
symbol «- getSymbol(exp) ;
case {
symbol = operand : // TR} A
push(Stack, symbol);
symbol = operator : // BAERE A g
opr2 < pop(Stack);
oprl « pop(Stack);
result « oprl op(symbol) opr2;
// 289X AW S AHAEE ALtz At
push(Stack, result);
symbol = null : // T2 E
print(pop(Stack));
}
}
end evalPostfix()
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Evaluating Postfix Expression
(Ex) AB*CD/-

B

A

AEH stack

AB*CD/-—
AbK| st L ALK A BS
HAX}E « 2 AASHY|
i ’ pop0 1~ © O\
RS popl() A B 70 |
\Uowq 21} X2 C i X
A A AL XE CHA| AEi0f &€
B o push(stack, X); BEW diaolk
AB+*CD/ -
W 0
;4 L C
X

AEH stack



Evaluating Postfix Expression

. ALK EF LA MK C, DE
Rl 5 ALK} /2 o1 Ab}Y)|
T pop()///?r_\/‘
popis | 0 ()\ Y « C Ds ~a
oop (stacl pop \9\_/ /6‘ Y
% A Z3 YE CHA| AEH0)| 4FQ X
push(stack, Y);
AEH stack 28 stack
AB+*CD/Jf-
ALK BF DA MK X, YE
T ALK -2 HASH|
pop(stacl oop) 4 °
POp! cl DOD() Z‘ X_’Y,
+—a A 5 I\ 5
AL A3} ZE CHA| AEH0)| 442
AEH gstack push(stack, Z): A&l stack

(712 6-20] AEHS AFRSH 59| By A i
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